tracks vs normalized x? |

recoToSim)

[{

track x?

berset

092 4 6 8 10 12 14 16 18 20

0

2l

16 18

8 10 12 14

6

4

track x2

syoen areandnp

16 18 20

2 4 6 8 10 12 14

track x2

Bi-PEESSmMvAaCand

syoel axey

[N o associated

lized X2

mal

nor

VS

Kk

0 trac

[N of reci

10 12 14 16 18 20

4 6 8

2

track x2

i

TT
e
e

Tai—towpt
ram:lh rOW
ranch—iow

O
n
il

TUS,
INUS;
INus’

i

0
o
=]

<
o
=1

syoesy angy

ol

syoen

[ Nof reco track vs.

[T
o
-

syoen

<
o
-

10°

0,



	Contents
	Page 1


